
Iron-cored coil Air coil 



Iron-cored coil Air coil 

Inductance = Flux/current 
 

L = 634 uH 

Inductance = Flux/current 
 
L = 175 uH 



Coilgun with the iron ball 
Force F=1.67 mN 



50mm 

20 mm 

60 mm 

(10,25) 

(10,-25) 

(30,25) 

(30,-25) 

(21.5,31) 

(5,-31) 

(5,31) 

(21.5,-31) 

J=I/Area  =>  I=J*Area=1.285A 
J=2.5 A/mm2 
Area=0.514 mm2 



Pot core choke 



Pot-core choke Iron-cored coil 

Inductance = Flux/current 
 

L = 634 uH 

Inductance = Flux/current 
 

L = 6.77 mH 



Iron-cored coil Pot-core choke 


